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URL: https://trinket.io/python/af9e01d901

%  mainpy +2 B Result i= Instructi
;: Ije;'“ill;(;?3 Powered by P trinket
. return © Cx=", -2 "leru(x) =, 0)
4+ else: Cx =", -1, "leru(x) =, 0)
5 return x Cx=".0 "Tleru(x) =, 0
6 Cx=",1, "lerux) =", 1)
7 = def n(x1, x2, x3): Cx=".2 "lerut) =, 2
8 s =08.1 * X1 + -8.5 * x2 + @.2 * x3 : L .
9 return relu(s) (,5(0'1' 0.8, -0.5) : 0)
10 ("s(b.1, 0.8, -0.5) =", 0.01)
11 x = -2 (s(10.1, 0.8, -0.5) =", 0.51)
12 print("x = ", x, "leru(x) =", relu(x)) (s(15.1, 0.8, -0.5) =", 1.01)
13 x = -1
14 print("x = ", x, "leru(x) =", relu(x))
15 x =0
16 print("x = ", x, "leru(x) =", relu(x))
17 x =1
18 print("x = ", x, "leru(x) =", relu(x))
19 x = 2
20 print("x = ", x, "leru(x) =", relu(x))
21
22 print("s(e.1, 8.8, -8.5) =", n(0.1, 0.8, -08.5))
23  print("s(5.1, 6.8, -08.5) =", n(5.1, 0.8, -08.5))
24 print("s(10.1, ©.8, -0.5) =", n(10.1, 0.8, -0.5))
25 print("s(15.1, ©.8, -0.5) =", n(15.1, ©.8, -0.5))
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URL: https://trinket.io/python/8aoeed74c9

@ My Trinkets pdi1i-2 | 2] Copy «<¢ Sha

= ) > v ?

< » mainpy + 1 3 Result
1~ def relu(x): Powered by )trinke‘
2+ if x < @o: , _
3 return 0 CnC, 1 =, 1)
4~ else: (n(@, 1) =", 0
5 return x (’n(1, 0) :’, 0)
6 (n@© 0 =, 1
7 ~ def nl(x1, x2):
8 s=1%x1+1%x2+680
9 return relu(s)
10
11~ def n2(x1, x2):
12 s=1%*x1+1%*x2-1
13 return relu(s)
14
15 » def n3(x1, x2):
16 s =-1%*x1+2%*x2+1
17 return relu(s)
18
19 » def n(x1, x2):
20 return n3(nl(x1, x2), n2(x1, x2))
21
22  print("n(1, 1) =", n(1, 1))
23  print("n(e, 1) =", n(@, 1))
24  print("n(1, @) =", n(1, ©))
25 print("n(e, @) =", n(@, ©))
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o Epoch Learning rate Activation Regularization Regularization rate Problem type
4|
000,000 0.03 % Tanh > None bt 0 ¥ Classificatio
DATA FEATURES + — 2 HIDDEN LAYERS OUTPUT
Which dataset Which Test loss 0.493
do you want to properties do Training loss 0.514
+ = + - :
use? you want to
feed in? 4 neurons 2 neurons
. -0
. o
Ratio of training < o
to test X12 D The outputs are
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URL: https://trinket.io/python/b1f04a9758

= P »r v 2

< > mainpy +2 B Result
e povered by Dink
3 r*etur‘n'e (n(3, 0 =, 12)
4~ else: (n(@, 1) =, 10
5 return x (n@, 2 =, 8
6 (n@, 3) =, 6)
7~ def n(x1, x2): Cn@3 4) = 4
8 s=4*x1+-2|*x2 UL o
9 return relu(s) (n@, 5 =, 2)
18 (n(@, 6) =", 0)
11  print("n(3, 0) =", n(3, 0)) (n@ 7 =, 0
12 print("n(3, 1) =", n(3, 1)) (n@3 8 =, 0
13  print("n(3, 2) =", n(3, 2))
14  print("n(3, 3) =", n(3, 3))
15  print("n(3, 4) =", n(3, 4))
16 print("n(3, 5) =", n(3, 5))
17 print("n(3, 6) =", n(3, 6))
18 print("n(3, 7) =", n(3, 7))
19 print("n(3, 8) =", n(3, 8))
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URL: https://trinket.io/python/3419fdo7e4
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My Trinkets

Dtrinket

main.py
1+ def c(x1, x2, x3):

pdi1-4

P Run

s =1%*x1+8 * x2+ 1% x3

return s

x =[0, 1, @, 1, @, 9, 1, 1,

i=0

print(’

i=1

print("

i=2

print("

i=23

print("

i=4

print("

i=5

print("

i1=6

print("

i=7

print("
1

("

x[i], ",
x[i], ",

x[4], ","

x[1i],

x[i],

x[i], ",

x[1],

x[i],

"ot X[+

||J||J X[l +

"ot X[+

"J"J X[i +

1,0,1%°1,

1, 9]

1], "

1], "

1,

1,

1], "

1], "

1,

1], "

1,118 e B2 & =xhE

? Modules
x[i + 2], "
x[i + 2], "
x[i+ 2], "
x[i+ 2], "
x[i + 2], "
x[i + 2], "
x[i+ 2], "
x[i+ 2], "

c(x[il,
c(x[il,
c(x[il,
c(x[i],
c(x[il,
c(x[il,
c(x[i],

c(x[i],

*x

[i

x[1i

x[i

b3

[i
x[1i

x[i

11,
1],
11,
11,
11,
1],
11,

11,

x[i
x[1i
x[1

x[i

x[1

x[i

‘ [ H ¢ Copy H <% Share H

+ 1 Result
Powered by ~ Ptrinket
(CecC, 0 ",", 1, "', 0 ")=",0
(CecC, 1, "7, 0, 1) =)
(CecC, 0 ",7, 1, 7,7,0 )=, 0
CecC, 1, 7,7,0 7,7, 0 )=,1
(CecC, 0 ",7,0 "', 1, ")y=",1

1) Col. 0 " 1 " 1y = 1)

21)) CeC, 1, "7, 1, 7,1, ) =,2
CecC, 1, 7,7, 1, 7,7,0 ")=,1
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BEROEFHAFH

Input Filter / Kernel
O 1 1 0 1 1 O 1
O 1 1 0 1 1 1 1
O 1 1 0 1 0 0 1

Hh—>xJ) (3 X3<TXR)

JCHEER (5 X 5 < X)

i https://serokell.io/blog/introduction-to-convolutional-neural-networks
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BIRDEHIAFH 1T D Python 7 G\EAQDW_J

© x=10 1,1 0 11,
[0, 1, 1, 0, 11,
[0, 1, 1,0 11,
[0, 1, 1,0 11,
[0, 1, 1, 0, 1]
k=[[1, 0, 1,
1, 1, 11,
[0, 0, 111
y = [[0, 0, 0],
[0, o, 01,
[0, 0, 01

def conv (i, j):
return x[i + 0J[j + 0] * k[0][0] + x[i + OJ[Jj + 1] = k[0OJ1[1] + x[i + 01[Jj + 2] * k[0][2] ¥
+ x[i + 11[j + 0] * k[11[0] + x[i + 11[j + 11 * k[11[1] + x[i + 11[J + 2] = k[1][2] ¥
+ x[i + 210 + 0] = k[2]1[0] + x[i + 210 + 11 * k[21[1] + x[i + 2]J[J + 2] * k[2][2]

y[01[0] = conv(0, 0)
y[01[1] = conv(0, 1)
y[01[2] = conv(0, 2)
y[11[0] = conv(1, 0)
y[11[1] = conv (1, 1)
y[11[2] = conv (1, 2)
y[2]1[0] = conv(2, 0)
y[21[1] = conv(2, 1)
y[2]1[2] = conv(2, 2)

print(y)

> [[4 3, 5], [4 3 51, [4 3, 5]]

https://colab.research.google.com/drive/1pcdD-15-2VbLizKb3eg)IQWXn8tBfOuK?usp=sharing 4 3
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